
EXERCISE # 1 

A
 

Q.1 

? 
 
Q.2 

? 
 
Q.3 SI 

? 
 
Q.4 
 
Q.5 ?
 
Q.6 ?
 
Q.7 20 10 
 
Q.8 

3 cm ?
 
Q.9 

(i) (ii) 
? 

 
Q.10 

B
Q.11 ? 
 
Q.12 

Q.13 
5s 

1450 m/s 

 
Q.14 ? 
 
Q.15 
 
Q.16 
 
Q.17 

? 
 
Q.18 

? 
 
Q.19 1.32 km 

330 m/s 

 
Q.20 

3 

( 332 m/s ) 
 
Q.21 

: 
(i) 
(ii) 

 
Q.22 105 Hz 

330 m/s 



Q.23 1 : 3 

 
Q.24 66 m 

330 m/s 
? 

Q.25 0.1 s 
5 cm 

? 

Q.26 4 ms–1 

20 cm (i) 
(ii) 

C
Q.27 

Q.28 ? ? 

Q.29 

Q.30 

. 



EXERCISE # 2 


Q.1 

(A) (B) 
(C) (D) 

Q.2 

(A) (B) 
(C) (D) 

Q.3 – 
(A) (B) 
(C) (D) 

Q.4 – 
(A) 1500 m/s  (B) 330 m/s 
(C) 1500 km/s (D) 330 km/s 

Q.5 
– 

(A) (B) 
(C) / (D) 

Q.6 

(A) (B) 
(C) / (D) 

Q.7 – 
(A) (B) 
(C) (D) 

Q.8 – 
(A) (B) 

(C) (D) 

Q.9 – 
(A) (B) 
(C) (D) 

Q.10 – 
(A) 
(B) 
(C) 
(D) 

Q.11 
(A) 
(B) 
(C) 
(D) 

Q.12 
– 

(A) (B) 
(C) (D) 

Q.13 – 
(A) (B) 
(C) (D) 

Q.14 
– 

(A) (B) 
(C) (D) 



Q.15 

(A) 22 (B) 32 
(C) 110 (D) 340 

Q.16 – 
(A) 
(B) 
(C) 
(D) 

Q.17 30°C – 
(A) 332 ms–1 (B) 350 ms–1 
(C) 530 ms–1 (D) 332 kms–1 

Q.18 – 
(A) 
(B) 
(C) 
(D) 

Q.19 – 
(A) 20 Hz (B) 20 Hz 20 kHz 
(C) 20 kHz (D) 

Q.20 – 
(A) 20 Hz (B) 20 Hz 20 kHz 
(C) 20 kHz (D) 

 
Q.21 – 

(A) 
(B) 
(C) 
(D) 

Q.22 – 
(A) 
(B) 

(C) 
(D) 

Q.23 

– 
(A) (B) 
(C) (D) 

Q.24 – 
(A) (B) 
(C) (D) 

Q.25 
4.4 

1500 ms–1 

- 
(A) 1500 m (B) 3000 m 
(C) 3300 m (D) 3600 m 

Q.26 – 
(A) (B) 
(C) (D) 

Q.27 – 
(A) (B) 
(C) (D) 

Q.28 
190 m 

( 1519 ms–1 ) – 
(A) 0.25 s (B) 0.50 s 
(C) 0.75 s (D) 1.0 s 



ANSWER KEY 
EXERCISE-2 

Ques 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans A A A A A A B A B A D D D C A

Ques 16 17 18 19 20 21 22 23 24 25 26 27 28
Ans A B B A C C A D A C C A A




